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QUESTION 1

The WS-BPEL technology can be used when applying the Compensating Service Transaction pattern.
A. True

B. False

Correct Answer: A

QUESTION 2
The Reliable Messaging pattern requires:

A. the use of standardized service contracts in order to enable message atomic transaction details to be carried in the
message header

B. a framework for temporarily persisting messages and issuing acknowledgements
C. the application of the Official Endpoint pattern in order to enable acknowledgement features

D. a framework capable of bridging disparate messaging protocols in order to exchange schemas between compatible
services

Correct Answer: B

QUESTION 3
Which of the following statements are false?

A. The Compensating Service Transaction pattern is often applied by calling one or more "undo" operations provided as
service capabilities of the services participating in a composition.

B. A compensating service transaction must be designed independently and without knowledge of the technical service
contracts belonging to the composition members.

C. Compensating logic is generally expressed in its own process definition and separated from the overall service
composition logic.

D. The Compensating Service Transaction pattern is one of the core patterns that comprise the Enterprise Service Bus
compound pattern.

Correct Answer: BD

QUESTION 4
The application of the Legacy Wrapper pattern typically results in:

A. no coupling of the wrapper service logic to the legacy system
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B. no coupling of the wrapper service logic to the service contract
C. no coupling of the service consumer to the legacy system encapsulated by the wrapper service
D. no coupling of the service logic to the service contract

Correct Answer: C

QUESTION 5

Protocol bridging features are a common part of enterprise service bus products and can be provided through the use of
adapters.

A. True
B. False

Correct Answer: A

QUESTION 6

The Process Centralization pattern is a part of which compound pattern?
A. Enterprise Service Bus

B. Orchestration

C. Federated Endpoint layer

D. Official Endpoint layer

Correct Answer: B

QUESTION 7

A typical service-oriented enterprise architecture specification can encompass:
A. only one service inventory

B. multiple service inventories

C. non-service-oriented technology architectures

D. None of the above.

Correct Answer: B

QUESTION 8
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With the Rules Centralization pattern, business rules are:
A. retrieved and applied at runtime

B. distributed across multiple business-centric services
C. expressed and centralized in policies

D. All of the above

Correct Answer: A

QUESTION 9

Which of the following statements about the subscriber role established by the application of the Event-Driven
Messaging pattern is true?

A. a service can have multiple consumers as subscribers
B. a consumer can only subscribe to one service

C. a service can only have one consumer as a subscriber
D. All of these statements are true.

Correct Answer: A

QUESTION 10

The application of the Redundant Implementation pattern helps increase the autonomy of:

A. redundantly deployed services

B. service agents that perform load-balanced access to services that are not redundantly deployed
C. compositions that compose redundantly deployed services

D. core service logic contained within services that do not rely on the redundantly deployed service

Correct Answer: AC

QUESTION 11

The messaging framework established by the application of the Event-Driven Messaging pattern positions a(n) as being
responsible for the broadcast of event notification messages.

A. event management program
B. synchronous queue

C. event-driven Web service
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D. database

Correct Answer: A

QUESTION 12

The State Repository pattern is one of the core patterns that comprise the Enterprise Service Bus pattern because
complex compositions often include long periods of inactivity while waiting for composed services to complete their
processing, thereby providing an opportunity to defer state from memory to a state repository.

A. True

B. False

Correct Answer: B

QUESTION 13

The application of the Intermediate Routing pattern relies on the use of service agents. In order for the pattern to be
applied properly, these service agents must be active in that they must change data within the message as part of their
routing functionality.

A. True

B. False

Correct Answer: B

QUESTION 14

In order to realize the failover support provided by the application of the Redundant Implementation pattern, the
Intermediate Routing pattern also needs to be applied so that services can be load balanced.

A. True
B. False

Correct Answer: B

QUESTION 15

Because the Service Broker pattern is part of the Enterprise Service Bus pattern, the Schema Centralization pattern is
also considered part of the Enterprise Service Bus pattern.

A. True
B. False

Correct Answer: B
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